STH4FE4R1BRAE

TH4EE KFRAGIRK]

[EEHHERAFEMITRE]
278 B a—X T8 | B | SEE | XBE | 68%F | AFE
HEE 5 5 5 5
BT - BRI R % 1[0 7 7 7 5
Fa—R EVAE 3 3 3 3
5 3E 0 0 0 0
SRR % o |TMEAHR 0 0 0 0
F® | sRLY—F—BEHO—R E2[q 10 10 10 10
% 3[E 6 6 6 6
R K F R D SEAER 0 0 0 0
PRTE ERBEITRAIO AT —R % 2[q| 21 21 21 21
3 8 8 7 7
SEAEEH 0 0 0 0
B 5 5 5 5
e ERIE 7 7 7 5
a 0 o [ s 34 34 34
53[0 14 14 13 13
=1 60 60 59 57
HERE 60 60 60 59 57
XHEEBERUFEIRAZABOSZEL, BEMRE -BEEMEARI—ADH
XNBEAFNBOEEIL, SRV —F—BRI—ARVERBREIRDAVLI—RDH
[EZRHEFR )
258 BEY T8 | B | SEE | XBE | 68%F | AFE
ERIE 2 2 2 2
_ BFEFENK 12 2 5 5 5 5
Bran E3m 6 6 6 6
Bt 12 &% 13 13 13 13
—— ERIE 0 0 0 0
1§ +25e RAXLEEFRR 2 Mgom | 1 11 1 1
SRIEET 25 =5 11 11 11 11
HERE 37 24 24 24 24




STH4FE4R1BRAE

TH4EE KFRAGIRK]

[THHER
252 B EE 55 | SBEE | 2BE | A%E | AFE
ol e HEE 67 67 67 65
| g T b
EXARIFER 85 — = = 28 26
E30E 123 122 115 111
HERE 54 54 54 51
= = TI3ET
REUSHBTHEY 84— m 23 7 5
s BEE 98 97 96 90
R M SRR TEER gq | TEE | 56 20 20 >3
T — g 58 58 53 45
BEkE 114 114 109 98
HEE 177 177 177 169
EYe 253 — Bz 158 156 143 130
&5t | 335 333 320 299
—B(E1R) 4 4 4 4
R BERIRI¥ER 22 |—#&(ZE2Rw) 4 4 4 4
RETEMRE —m(E3R)| 2 2 2 2
EYCE 22 &5t 10 10 10 10
mEREt 275 345 343 330 309
[EE g R A MFZEFR]
252 Y EE 55 | SBEE | 2BE | K& | AFE
F£1[E 2 2 2 2
- ;51 /N AR )(\ I
L)L AT 42 A bR T ol 5 4 3 3
SRTRET 7 =X 7 6 5 5
e RlEt 7 7 6 5 5




STH4FE4R1BRAE

TH4EE KFRAGIRK]

SHA4E4RAE
[TErZEHR)
252 HK T8 |BEANE| SEE | 28BE | 68E | AFE
- EXARIZEER 0 0 0 0
GEPIS EEHAEBRTZER - ET4 1 1 1 0
e e HEHEERTFER 0 0 0 0
‘ _ =Rt 1 1 1 0
*f;‘ff;i? BEBRIEER - |l EFE | 2 2 2 2
(BRI EFCE &% 2 2 2 2
W Rt - | EF4 3 3 3 2
SHSEI0A AR
[ES MR ]
B Y] B a—2X T8 |BEANE| THEE | BE | a8E | AFHE
wr ke | g | SFVY - —FRa—X| - HT4 0 0 0 0
25 BY  (pa@Evrdivba—2z] - =EF4 0 0 0 0
(SMELAFF3I) =igat &% 0 0 0 0
WERE - | ¥4 0 0 0 0
[EZZR#EFR]
252 HK T8 |BEANE| SEE | 28BE | 68%E | AFE
e REEEEZHER - 5 5 5 5 5
WL =Rt &5t 5 5 5 5
e F et - 5 5 5 5 5
[T E)
252 HK T8 |BEANE| SEE | 28BE | 68E | AFE
o EZERITER 1 1 1 1
AR
GEPIS RAHSEBTEER - | EmFe [ 1 1 1
H;*{;j‘?;‘]ffv'ﬁﬁi)i MBHSEBRTIYER 1 1 1 1
‘ :_ EF TN 3 3 3 3
Pl iy BEBRTEER N U s s 3
(AT ERE — -
BFHEI—R) ERiEaT 4 4 4 3
e A BEBRIEER - ET4% 5 5 5 5
R S E ] T : : : :
Rt - =T 4 12 12 12 11




	大学院grad

